PALL, 2000 ~ QUIZ 13 NAME

1) a) (15 p1s.) Row reduce the following augmented matrix:
0 0 2 0 -1 2
1181 1C
What is the last column of this row reduced matrix?
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Answer: The LAST column is

b) (15 p1s.) Consider the following system of equations:

0z, + Oxzg + 2z3 + Oz4 — 175 =2
1z + lxzp + 8z3 + lzy + lz5 = 6

Solve these equations for x; in terms of the free variables. )
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Fill in the blanks with numbers (some of which may be zero):
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2) (20 pTs.) Row reduce the following augmented matrix:
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Answer (fill in the blanks):
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